A & 0l & AFE B Al A

SA BAQMD
M PAARY SHSHEAH/EAHOR)
chel: 22 (CHl: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
AP A D} 7,889,812 6,928,513 91,299
= 773,551
z 275,622
7l 41,910
[ 757,695
Al 6,019,635
= 21,399
SAHAI SASHEAH/EAHOR) 6,076,700 5,856,393 220,307
= 580,000
z 275,622
7l 41,910
[ 680, 100
Al 4,477,669
= 21,399
SHMF 2L 1,166,183 1,179,089 A12,906
z 25,622
[ 7,292
Al 1,133,269
A 22 2 N8 75,936 70,697 5,239
101 Q124 31,3% 30,477 919
M IIHR22IEES 31,3% 30,477 919
OSH HIIexe 8 28,871
—o1=Y 78,8802%x2% 150 23,664
—F5=+4 78,880 2%x2%x262 4,102
—ARRSEIILY
78,880 x2%x7 1,105
OFAL SEHH| QIRA(MERY L ZAS 22| S)
2,525
—o1=Y 78,880 21«2 522 +8IH A 2,525
201 L2 A 36,540 33,220 3,320
01 AF222IHI 33,540 32,220 1,320
OXA2HYR Alo|9(AF| B
100, 00024+ 12 %23] 2,400
O2JtZE MO9S BA 4
100,000 x4 13] 400
OBA2EH L DESBHOIA BET} HIE
100,000 %12 1,200
OBHBEMHIA &2 202
400,000423] 800
OXISEAARHE ABHEA S0
10,0002 %505 500
Os|H2& Mal g0l
10,0002/ %35 #3022 900
OBA(X)A - BAX2A 2UE MA!l K0
10,0002+ 10IH A6 600




SA BAHMD
HI: BAAY EBAGH(BH/BHOAR)
EHel: SAMF 2L CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OURRIEE AR 22
20,00024*524 100
O2FZHOA 4 AX2
350,000 «6 %122 25,200
OBIRIA! FIEATAIAL 228
20,0002 %122 240
OozmlI2 M2 7Y
10,0004+ 107 * 122 1,200
02 2229 3,000 0 3,000
OBAHARB S 2643
3,000,0002* 13 3,000
203 2EZIH| 8,000 7,000 1,000
03 AIBEZRIQREAIH 8,000 7,000 1,000
OBAA =QAIN S0t =X
5,000,000 * 14! 5,000
O=A2d AL =&l 1,000,000 %1 A! 1,000
OHASA g2 =& 1,000,000 14! 1,000
Oy o =X
1,000,000 * 14! 1,000
S| S 125,955 94,188 31,767
201 LB 58,712 67,505 18,793
01 AF222IHI 15,383 972 14,411
OFAL Z2IRE 22 972
—H ety e 5,0002* 12 60
—3l A 22IRE
7,000 %80 Ax 122 672
—HLES 10,0002 %x2Z+ 122 240
OFAF AZAIE ST 22| HEH(BE FUEA ZH)
280,00021% 12 3,360
O&2sts)| Ald | S| 1,651
—S285)| 4224 22 nH(OAARH Q)
200,000 x5Z5+13] 1,000
—stestsd| Xl
8,452,880%%7/100%1. 1 651
OLY)| B8 SEL FH 222
250,000 1CH+ 122 3,000
OE2A M3Z AlL2 HIIHEEY 29
3,200,0002 %23 6,400
02 222 43,329 66,533 A23,204
OEAF ®IIAIE SR
500,000 %23 1,000
OFAL CCTV EH| |22
300,0002%23] 600
O2A A2 RXZR2U(ESAS X
3,3622%2,845m 30/ 100 2,870
OBAH(X)A L BAR2A HA 2R A5 9,933




2A - ZH - H(ZH) - HRAID -

FE

v P ==
S=

PIE]=>
e

413,300& 53] 2,067
—HAXA QR A5
171,000&* 1090 2+23] 3,420
—BAN2 A 9RAS
171,000&* 130 2+23] 4,446
OZAL I M (2A) =Y
4,0003+1,494m* 5,976
OFAL & - | |+ 7,500
—d - A RRIES
250,000 *23] 500
—&EE Y HEDIAS L U EA
100, 000& *70CH 7,000
OXtet=Al| 12,500
—20M9701(&8, EAHE;H, o<, 3L R)
1,000, 0002 *1CH 1,000
—16M5113(SE, BHAE, 3ER)
1,000, 0002 *1CH 1,000
—7105968( &8, WEH A, ER)
1,000, 000& = 1CH 1,000
—1556963(S &, XIOHtAMIH, 2/ 2=2)
1,000, 0002 *1CH 1,000
—3RO4B40(52, LEEA, FLR)
1,000, 000& = 1CH 1,000
—08L16573(&8, HABE, FLR)
1,000, 000& = 1CH 1,000
—96R44B84( A EEIE, YA, BR)
1,500, 0002 *1CH 1,500
—252iB17(&52, L2EA 3 LK)
1,000, 000& = 1CH 1,000
—71F7336(&8, WSHA, 2R)
1,000, 000& = 1CH 1,000
—7F73H67(S, ZBAEAH ER)
1,000, 0002 *1CH 1,000
—QR743B(L EEE, AR, HR)
1,000, 000& = 1CH 1,000
—B84425538( A S, LTS, 3LR)
1,000, 000& = 1CH 1,000
OFXE 0l2AI82 SR I=el
100,000 42| 400
OZA 223 HA 28
200,000& *201 A+23] 800
O37| &) B=Z wxl
25,0002 *109H 250
OZO0HQ! HOAIE HAX(EXES 2)
20,0002 +58*15JH A 1,500
206 TH=ZH| 743 283 460
01 M=Hl 743 283 460




SN 2AAMD
HH: BHAIY SASHEA/2AAR)
EHel: SAMF 2L CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OEA(R)A L BHI2A MFH ZF2ke|
ma e 743
— =9 12,00021*25&+7H 168
= 25,0002%23 13 575
401 Al&H| 2 S 40,000 26,400 13,600
01 Al&H] 40,000 26,400 13,600
ORAA SHIHE L AIES HES
5,000,000 %43 20,000
O224 AI|&ZHI(MCC BHe) WM SAt S
20,000,000 * 14! 20,000
405 KHAHE SH 26,500 0 26,500
01 AL SEFSY| 26,500 0 26,500
Odt g MBII(KIsH 2AMD)
1,250, 00024 =2CH 2,500
O=EEE L M2 17,000, 0002 % 1CH 17,000
O&EM «t 7,000,000 %1 A! 7,000
2AXNA € 2L 2Y 916,998 948,204 131,206
101 QI24H] 127,392 140,068 A12,676
VBIE I 127,392 140,068 A12,676
OBAXA XBBX ol 127,392
-2 78,8802 %5 x260 102,544
—FF () =g 78,880 +52x632 24,848
201 LB A 313,746 267,6% 46,050
01 AFR2t2IHI 115,360 33,800 81,560
ORIEolE )| ZE wHl 6,240
—2ada 60,0002 x43|x37H 2 720
—E2AX 2 60,0002 45|+ 1074 A 2,400
—EHlEs 60,0002 45|+ 1374 A 3,120
OZIIEA)| ZE A
110,000 *32CH 3,520
OXBIIER S SNE2E AHA! R0
300,000 %35 900
OFARZIZBE 7 2,760
—22A% 2 10,0002/ % 10H A* 122 1,200
—2Ai=a 10,0004 * 137 A* 122 1,560
ODlgl 222 N(BA(X) A, BAHATESA) 2,600
—BFEB2H9A} 100, 0002 %102+ 1 = 1,000
—2tSAF DI 80,000 %2034+ 1 & 1,600
O2I2HDI2 M 2L
5,000 %230 A 122 1,380
OEAT2A 2HFOIF| EALE
100,000 % 15213 % 134 A 19,500
OBHEZA SHSHOFIH S5 44
100,000 * 13H*43] 5,200




SN 2AAMD
HH: BHAIY SASHEA/2AAR)
Chel: SAHF 2 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OZSEHHIIZ /e +42(E20t
2 Hel) 21,540
—2AL 300,000+ 14 Ax 122 3,600
pi=RaNES 65,0002+ 104 Ax 122 7,800
—2AHAZ A 65,0002+ 13H Ax 122 10,140
OHFIIAAE MR HE 42 20,340
—BAHA(A, R
125,000 20 A% 122 3,000
EaNES 85,0002 %9 2+ 12 9,180
—EHiEA 85,0002 8IH 2+12 8,160
OAL BOIAAE 29 X2 22,920
—BAHA(A, R
100, 00024 <2 A 122 2,400
—E2AX 2 80,0004+ 104 Ax 122 9,600
—EHlEs 70,0004+ 13H Ax 122 10,920
ORHEMAEII(UPS) SXIE2 8,460
—2da 125,000+ 14 Ax 122 1,500
—2AX 2 58,0002 * 107 Ax 122 6,960
02 222 198,386 233,896 A35,510
OMIQB(BAHXIA)
660,000 * 107 A+ 122 79,200
OFIQB(BAHEEA)
420,000 % 13 Ax 128 65,520
orski=t=] 11,040
—E2AX 2 40,0004+ 104 Ax 122 4,800
—EHlEs 40,0004+ 13H Ax 122 6,240
Ot e3 4,584
—2AX 2 20,0002 % 107 Ax 122 2,400
—2AHl=a 14,0002 % 137 Ax 122 2,184
OHSIE HA 42 510
—EHlEs 85,0002 *6IH Ax13] 510
OZFH| SXELH(BHXIA) 2,120
X2 BH(XDRLIE 2 75)
100, 0002 *8Z+2JH A+20/ 100 320
—HASTA 2SHH|(QHOIIXt 2l 55)
100, 00024 *6Z+ 107 2*20/ 100 1,200
—UBIXIZ2A(FAE AN 2 2F)
100, 0002 *3Z+ 1074 A*20/ 100 600
OZH| RXELH(BARZA) 2,340
—HASTA 2SHH|(QHDIQIXt 2| 55)
100, 00024 *6Z+13IH 2+20/ 100 1,560
—UBIXIZ2A(FAE AN 2 2F)
100, 0008 *3Z+ 1374 A*20/ 100 780
O|uYs A2 2,484
—2AX 2 9,000 %10 Ax 122 1,080




SA BAHMD
HI: S BASHBH/EAHO2)
SR BAsE2e| (cHol: M)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
—2AdEa 9,000+ 130 A*12% 1,404
OFA etz 12| 5,088
—224 QA (U2 HRHI)
23,50021 12021 A 2,820
—AEPHISA(LPGIIA S124])
4,20021%90m xR 1 A 2,268
OHAIS2E WAD HNMEY 242 2,500
—2AX 2 250,000 %15/ * 104 A 2,500
OHE sz 18,400
—2AX 2 800,000 %1074 A 8,000
—2AdEA 800,000 * 1374 A 10,400
OYLYAY| RAE 4,600
—2AX 200,000 x 104 Ax15] 2,000
—EHlEs 200,000 * 134 Ax15] 2,600
307 Q1201 407,660 485,340 AT7,680
01 22 2 3|=H| 407,660 485,340 AT7,680
OXSAESZHI|(AD) ARE 7
500,000 % 17K 500
OFSX U =l & %= HH|
200, 0002 *2CH 400
OXBoIAE PA(LAXIA) 230,280
_ oy 178,200
- ASPIHI(YIML @I 355)
350,00024*90H A% 12 37,800
30| H(2AIR 2 195)
350, 0002 *9J A* 122 37,800
Z22AA(HEY 2 215)
350, 0002 *9J A+ 122 37,800
- SEIIHGIEEIH 9 25F)
350,00024*9 I A% 122 37,800
- IR (HLI2IR! 6F)
250, 0002 *9J A+ 122 27,000
—5tet 35,520
A (B 2 8F)
80,00024*8IH A*12 7,680
- EEDIH(QIATHEA 9 7E)
80,00021*8IH A %12 7,680
DZAH(LEL 2| 5F)
80,00021*8IH A %12 7,680
-SEIIH(ANEE 9 8F)
80,00024*8IH A %12 7,680
JIEtREH(ZEY 2 55)
50,00024*8IH A %12 4,800
—rzg ADE 16,560
UBRIR ADE(AEEA 2| 20F)
60,00021* 1074 A %122 7,200




SA: B
ME: PAA BASHEH/BHOE)
Chel: A A 22| (Ctol: ®M2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SR ARE(L32E 2 155)
60,0002 *8 I Ax 122 5,760
ANUNZ ADE(SAH 2 155)
150, 0002 %20} A% 122 3,600
ORZOAE RU(BHREA) 168,480
—XIZ ook (2ket) 152,880
ABIIHI(RILIEIE @ 8F)
250,00024 1301 A 122 39,000
CEEDIH(BIAR 2| 20F)
200,00024 1301 Ax 122 31,200
- 2ZAA(OIRIA Q| 215)
200,00024 1301 Ax 122 31,200
- SEIIH(DHA 2 155)
200,00024 1301 Ax 122 31,200
- TSR HLR 9 65)
130,0002 % 1304 A* 122 20,280
—NEg A= 15,600
ULKZ ADB(AZHX 2| 035)
100,0002 % 1304 A* 122 15,600
OLHSRIHAIX BHES At
50,0002/ *80 % *23] 8,000
401 A& LSO 46,000 46,000
01 Al&H] 46,000 46,000 0
OBAX(ZZ)A SAME L ALS NS 46,000
S APNES 2,000,0002* 1074 A 20,000
—2Alss 2,000,000 * 1374 A 26,000
405 XHAHE S| 22,200 9,100 13,100
01 AL SEFSH| 22,200 9,100 13,100
OAEIIE SUI|(BARA L BATSA)
300,000+ 1CH*230H A 6,900
OYRED(2TEAXEA)
1,300,00021CH 1,300
OAHICS HEHHZ)|(24BHXA, ARBAT2A)
250,000 *2CH 500
OCHIICIRHZED B KA, THABAR|A)
3,000,000 *2CH 6,000
ONESARUEZH)|(FEBANEA)
1,000,00021CH 1,000
Odirery| 3,200
—20|E (016, RABAIA)
1,600,00024*2CH 3,200
ORASHOIZ(AERAXNEA)
300,0002*1CH 300
OHIOIZ THAEBAREA)
150, 000 *4CH 600
ONRETHE24BAHX A, ATTAXZSA)
250,0002*2CH 500




SN AN
M3 22AAY BASH2A/2A0T)
el SN e (chel =21
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OF(CITANL, INEANEL, LdRTAN =)
300,000/ +3CH 900
OS2I (ERZAHTEAL)
1,000,000 «1CH 1,000
(F)SUHESAL S 018 ASAL 11,850 6,000 5,850
2 7,900
= 1,975
Al 1,975
405 RHAHFISH] 11,850 6,000 5,850
2 7,900
< 1,975
Al 1,975
01 XL SEFISH| 11,850 6,000 5,850
OXSEAH PY(22HA)
3,000,008+ 10H 3,000
2 2,000
< 500
Al 500
OYstgMs 24| P(22A4)
5,550, 00024 1CH 5,550
2 3,700
< 925
Al 925
OABLE)| 7Y (SHEAHKIA)
3,300, 00024 1CH 3,300
2 2,200
< 550
Al 550
(F)ogFoxl A2 35,444 60,000 N24,556
2 17,722
< 5,317
Al 12,405
307 21201 35,444 55, 100 19,656
2 17,722
< 5,317
Al 12,405
0192 2 3l=t| 35,444 55, 100 19,656
O2Z5oHAl &2 A| 35,444
—AEENTE 8,861,0002/%43] 85,444
2 17,722
< 5,317
Al 12,405
ST A 4,910,517 4,677,304 233,213
=2 580,000




SA: BAQMD
HI: BAAY EBAGH(BH/BHOAR)
ol Sl MY (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
a 250,000
p) 41,910
[ 672,808
Al 3,344,400
= 21,399
SREH ALY 116,220 58,220 58,000
201 LB 43,600 8,200 35,400
01 AlR2r2IH] 43,600 8,200 35,400
ORXEHAIY &8 41,000
—&4 =5t 2ER20| 2L
130,00024%300% 39,000
—DIEAAY EBE RIE
2,000&*1Z5+1,0000H 2,000
ORXEA 28 2H Q! 2,600
—3l0t 1= 60,00024* 108 600
—E52 2 E2EE
1,00020%1Z%2,0000H 2,000
206 M=l 4,180 3,430 750
01 2HI 4,180 3,430 750
OA2 WA THEH| 7,0002+30%+83] 1,680
OZADIE 2r=)| HIE W2t
5,000 %500 2,500
301 LBEAS 8,040 1,390 6,650
11 A X2 6,840 490 6,350
OYste WAl 2HAH2
3,5002 %3083 840
OzHD Z272 29
2,000,000 %33 6,000
14 J|EtRAE 1,200 900 300
QAR WAl AL SE
150,00024%83] 1,200
307 Q1201 A 60,400 45,200 15,200
0192 ¢ 3/=2t| 60,400 45,200 15,200
ORXEHAIE R FAH 2L 51,300
— QAR oyl 20,00021%3002+5S 30,000
—JtAT |0l HAHA|
5,0002* 10035 1,500
—ZR0t S 22 0002 *300Y+3E 19,800
OAtZstet FHo x| & 130,000 *70H 9,100
SAE XIRALY 2,574,900 2,618,400 A43,500
201 LB 30,300 12,000 18,300
01 AlR2t2lH] 30,300 12,000 18,300
OZSAEPAIAL X B2H|
250,000 %122 3,000




SN 2AAMD
MM DAY SHSHEAH/EAHOR)
ool S8Id A (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O4 F0I2E 222 7
20,0002 *200CH 4,000
OSAEY 222 £ A%
2,0002%2Z+1,0000H 4,000
OBAR0IBE S HE
400,000 %122 4,800
OSAE ALY 2H Q! 4,300
—E82 HX 2,0002%2Z*1,0000H 4,000
—3i4-0) J& 60, 00021+5% 300
OopI=RSES E= 3,0002%400Y 1,200
Ostt=ot2sg 7Y 30,0002 %300 9,000
301 YB3 2,544,600 2,606,400 61,800
03 ALBI 2R E 262 (XL THS) 2,544,600 2,606,400 61,800
O=MEA2 2,214,600
—EMET2(LAID)
500,0002 %330 165,000
—ESMEHS(2ED) 2,049,600
- X ot 200,0002% 1712122 410,400
- SMot 300,000 %247 % 122 889,200
- ARHOF Ol At 500,000 %1253« 122! 750,000
Odt=Zx2|d] X1 1,000,000 %330 330,000
(2)20H5(2X| KA 500,000 500,000 0
z 250,000
[ 125,000
Al 125,000
307 212+0|& 500,000 500,000 0
z 250,000
[ 125,000
Al 125,000
02 QIFAAAIIE R 500,000 500,000 0
O=SeHaHR0I ) 29 X2
500,000,000 * 174 A 500,000
z 250,000
[ 125,000
Al 125,000
(2)HAEAR AAMSA o|2H| X 1,200 2,400 AT1,200
7l 600
[ 180
Al 420
301 YB3 1,200 2,400 21,200
7l 600
[ 180
Al 420
01 ALBI 2R E LG Z2(ZDEZHR) 1,200 2,400 21,200




SN BAPIMT
A HAHAY 2HSH(EAH/EH2T)
Pl YA A (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFAE &2 ol=H| X
1,200,000& 1 1,200
7l 600
& 180
Al 420
()RR g XA 28,000 10,000 18,000
7l 14,000
= 4,200
Al 9,800
307 212t01 ™ 28,000 10,000 18,000
Jl 14,000
= 4,200
Al 9,800
012 € 2= 28,000 10,000 18,000
ODIFYLE ol2H| X
2,800,002+ 102 28,000
Jl 14,000
= 4,200
Al 9,800
(=)01=0F ¥ S H0I&0F 2A=H| X 12,000 10,420 1,580
7l 6,000
= 1,800
Al 4,200
307 212t01 ™ 12,000 10,420 1,580
Jl 6,000
& 1,800
Al 4,200
0122 ¥ 2/=H 12,000 10,420 1,580
OD0l=0t & A& H0la0F 2=H| K&
600,000& *20H 12,000
Jl 6,000
& 1,800
Al 4,200
()L HLHAIOI A Z AL EHot2te] 22,000 13,000 9,000
Jl 11,000
& 3,300
Al 7,700
301 LBtE2NS 22,000 13,000 9,000
Jl 11,000
& 3,300
Al 7,700
01 AFRI2ZE4FS (R NEXTHR) 22,000 13,000 9,000
OdEEHUAIOI&E A & Eot2te| X1
1,100,000 20 22,000




2AM:
T ZH -
o /e

cH):

HEE

2A - HH . H(SH) - MRAIY - BES Of] &K o1l Aol Hws2
pJ 11,000
& 3,300
Al 7,700
()N M2 L EFI| X2 2,600 3,000 A400
7 1,300
& 390
Al 910
301 LEBHZ 2,600 3,000 A400
| 1,300
[ 390
Al 910
01 MBIBEE G2 (ZNEXTHR) 2,600 3,000 2400
O XD|1Je X2 650,000 x4 3 2,600
| 1,300
[ 390
Al 910
(2IIHH L =H=ES K& 166,000 129,000 37,000
= 83,000
[ 24,900
Al 58,100
301 YEIEEZ 166,000 129,000 37,000
= 83,000
[ 24,900
Al 58,100
01 MBIBEE G2 (2 NEXTHR) 166,000 129,000 37,000
OMASES JIMH & ZHER XA
664,000&*250H 166,000
= 83,000
& 24,900
Al 58,100
(D)X BAALB T A 26,959 26,334 625
7 2,780
T 834
Al 1,946
=S 21,399
101 2l24b| 26,959 26,334 625
| 2,780
[ 834
Al 1,946
=S 21,399
04 JI2tNIZ22NSE s 26,959 26,334 625
ORXEHAIY BX0ld ol2e S
26,959,000 14! 26,999




SN 2P
HE: PN
S S (cHol: M)
SA B E(BH) - HRAY - BES Gl HIDS2
| 2,780
T 834
Al 1,946
= 21,399
(2)E R0t 2,813 2,250 563
| 2,250
Al 563
301 2,813 2,250 563
| 2,250
Al 563
01 AIBIBEE4G2(2 08X 2,813 2,250 563
Og R0t
56, 26024 *50H 2,813
| 2,250
Al 563
(2)E R0t 2,050 1,075 975
| 1,640
Al 410
307 2,050 1,075 975
| 1,640
Al 410
01 2,050 1,075 975
oZ
205,000&*10H 2,050
J| 1,640
Al 410
(2)E R0t 1,675 1,450 225
| 1,340
Al 335
201 1,675 1,450 225
| 1,340
Al 335
01 At 1,675 1,450 225
OEIEI={CES= TN sE2= X
1,000&*1,6754 1,675
J| 1,340
Al 335
(=)= 764,000 620,000 144,000
= 497,000
= 80,020
Al 186,980
301 764,000 620,000 144,000
= 497,000
& 80,020




2AM:
X{XH -
o /e

cH):

PIE]=>
e

Al

186,980

2,000,000&~184&

3,000,000&*132&

Mo

=

Mo

764,000
764,000
368,000
239,200
38,840
89,960

396,000
257,800
41,180
97,020

620,000

144,000

Al

2,000
1,000
300
700

2,000

[m]
U

[
[

H

Al

2,000
1,000
300
700

2,000

H

Al

2,000

2,000
1,000
300
700

2,000

H

Al

299,500

257,570
41,930

183,700

115,800

H

Al

299,500
257,570
41,930

183,700

115,800

1,198,000& 250

H

Al

299,500

299,500
257,570
41,930

299,500

H

Al

185,340
74,136
111,204

311,655

N126,315

H

Al

185,340
74,136
111,204

311,655

N126,315




SN BAPIMT
A HAHAY 2HSH(EAH/EH2T)
Pl YA A (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
03 AL2l 2 EE 46l= (XILTHE) 185,340 0 185,340
OAIRAIM0L 2122 2o19ea TR
926,700 200 185,340
& 74,136
Al 111,204
(D)X (HEAIY) 112,000 112,000 0
= 72,800
Al 39,200
307 212t01& 112,000 112,000 0
& 72,800
Al 39,200
0122 € 2/=H 112,000 112,000 0
OdRRAISE X
560, 00021*200% 112,000
& 72,800
Al 39,200
(2)E=8 422 A=t SR 83,260 65,800 17,460
= 24,978
Al 58,282
307 212t01 ™ 83,260 65,800 17,460
& 24,978
Al 58,282
NEEEIEET] 83,260 65,800 17,460
OF=E Uy=s Azl ST
416,30021+200% 83,260
& 24,978
Al 58,282
(Z)HIRHACIAIDIE EES ALY 8,000 8,000 0
= 2,400
Al 5,600
301 Et2dS 8,000 8,000 0
= 2,400
Al 5,600
03 A 2& X =5 S (XL THH) 8,000 0 8,000
OMIXHA 014 J1E &=Hl X
50,000&*160& 8,000
& 2,400
Al 5,600
AlSel MR (22A/AFo0rA) 687,580 661,054 26,526
= 193,551
= 77,595
Al 416,434
AN 2 630,580 656,554 N25,974
= 193,551
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A ANt
M AZMPIR( P2/ AE0|0HA)
el ASPMAA 2| (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 105
Al 245
01 =LHOAHI 700 780 280
OHLIISAE Al =21 Kbl
700,000 * 1A 700
= 350
= 105
Al 245
301 EtEdEZ 1,500 1,660 A160
= 750
= 225
Al 525
14 JIEtE&Z 1,500 1,660 A160
OHAIIsAE ZH =l
75,0002 %2024 1,500
= 750
& 225
Al 525
(2)0RI0DISAE Mgae|d 29 13,000 13,000 0
= 6,500
Al 6,500
301 EtEEZ 13,000 13,000 0
= 6,500
Al 6,500
14 J|Et243 13,000 13,000 0
O02l0ID|sAE dg2eld g3t
13,000, 0002+ 14! 13,000
= 6,500
Al 6,500
(=) XS XL EHE2S 365,000 315,000 50,000
= 182,500
& 54,750
Al 127,750
307 212t01™ 365,000 315,000 50,000
= 182,500
& 54,750
Al 127,750
05 BIZtRIEF 365,000 315,000 50,000
OojglolZal 2 XMy 29
315,000,000 * 1A 315,000
= 157,500
& 47,250
Al 110,250




SN 2AR(0
M AESIMRR| (P /ABO|OHOHH)
Rl MSAMAL el (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OAzlsAlea 2| N2dE 29
50,000,000& 50,000
= 25,000
& 7,500
Al 17,500
(Z)08loD|saE2e 750 1,200 A450
< 225
Al 525
301 LBtE2NS 750 1,200 2450
= 225
Al 525
14 JIEt2d= 750 1,200 A450
OORI0DIBAIE SATHHAA X
93,7502 *BIH A 750
= 225
Al 525
(E)AMSSULAI 15,000 20,000 A5,000
& 4,500
Al 10,500
301 LBtE2NS 15,000 20,000 A5,000
= 4,500
Al 10,500
14 JIEt2d= 15,000 20,000 5,000
OrlE=0Y 22 & F0gH X2
1,000,000 *15J0 2 15,000
= 4,500
Al 10,500
(D)ASHEIISLASLERZ 4,700 5,400 AT700
& 1,410
Al 3,290
201 Let23| 4,700 5,400 AT700
= 1,410
Al 3,290
03 A2 EH| 4,700 5,400 AT700
OR+AMSHIIEEA 2= |54 &
4,700,00024%14! 4,700
= 1,410
Al 3,290
()= 40,000 54,000 214,000
& 12,000
Al 28,000
307 2I2+0| ™ 40,000 54,000 214,000
& 12,000
Al 28,000
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Rl MSAMAL el (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 LB AAIEEE 40,000 54,000 214,000
OOIRIEH QIABATA
5,000,000 1074 2=+80% 40,000
& 12,000
Al 28,000
(Z)essSAEsERA 1,100 1,400 A300
= 330
Al 770
301 B2 HS 1,100 1,400 A300
S 330
Al 770
14 J|Et2d= 1,100 1,400 2300
OLss4d 54 NA
1,100,000& *14] 1,100
S 330
Al 770
(&) ADLEHACCP 7% 22 X2 9,000 0 9,000
= 2,700
Al 6,300
307 212t01 ™ 9,000 0 9,000
& 2,700
Al 6,300
02 I B AP E X 9,000 0 9,000
OADIEHACCP 1= 28 XI&
5,000,000 *2IH 2=*90f% 9.000
& 2,700
Al 6,300
SSAdEA 2 57,000 4,500 52,500
= 1,350
Al 55,650
(Z)R*+=3SAUGA2CXH 4,500 4,500 0
= 1,350
Al 3,150
301 Et2HS 4,500 4,500 0
& 1,350
Al 3,150
14 J|Et2 = 4,500 4,500 0
ODEDIMLAA MUIABIL 2414 (S8 - AIE -
g2244) X
40,0002 10094 2 4,000
= 1,200
Al 2,800
OAHINPESSLAIA 2S
50,0002+ 12+ 10 500




SN 2AAMD
HE: AZQIMPR|(22H/AIZO2t0tN)
G BSAMAA 22| (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 150
Al 350
0l - DIZ2UA AN XA 52,500 52,500
402 QI2FRF=0IH 52,500 52,500
01 QIZFRF2 A E AR (XHRITHS) 52,500 0 52,500
OO0l - DIZ2YA AEME AI(EXE 70%)
5,000,000 1574 2=x70/100 52,500
MY SHAY|(2HLM D) (DIEHIIE}) 1,114,732 400,266 714,466
REEX=ET 694,462 0 694,462
olz29] 694,462 0 694,462
101 Q124 694,462 0 694,462
01 B2 380,998 0 380,998
OAlRIQI 2248
11,3192 %852 x33A| 2+ 122 380,998
02 JIEHRIE 264,000 0 264,000
OZZEBAYA T E =Y
900,000 %232 122 248,400
OZEEAA 2E2R24Y
50,0002 %232 122 13,800
ONUBE 22 ZEEHOA A2 S=H|
45,0002+ 1240 1,800
03 BRE(RI|HL)22XE 4 49,464 0 49,464
O A2 49,464
—Jl=z 2,753,4302% 1% 122 33,042
—HESIH| 2,753, 43024750+ 124 %23)| 4,131
—d2+< 2,753, 4302 %50%+ 1 H*23] 2,754
—AlZte2Ragt
17,0672 150%* 1B *15A| 2+ 128 4,609
—RSEIISY
136,530 %% 124 152! 2,048
—ZMZAlY| 140,000+ 1S+ 12 1,680
—uS2E 2| 100,000+ 18122 1,200
|23 420,270 400,266 20,004
BIEET 420,270 400,266 20,004
201 L2 A 188,010 168,496 19,514
01 AFRZH2IHI 75,580 72,866 2,714
R P 44,138
—=2ZA8X 2
20,0002+ 198t A 122 4,560
—S201Al| 8,000 *7 A% 19+ 122 12,768
—Yeter2 100,000 % 12 1,200
— A2 AP 50,0002 12 600
—ARZAHH| 8,180
SAD| 22 1,000,00021CH 1,000




SA EASAD
M HNYSAAH|(SARMDL) (JIEHIIE)
&l J|12ah] (cHol: M)
2A - B - B9I(S10) - HIRAR - B oll&toy e HlmE
- Tl 2 100, 00024 *4TH*50% 200
- 2A0| EU 200,0002 %53 *1CH 1,000
TR EU(SY)
200, 0002 +53] *4CH 4,000
- HRIE £l (el
200,0002%53]*1CH 1,000
-PC 22l 100, 00024 * 19CH*20% 380
- J|Et Z=2lb] 50,0002* 12 600
—JIE+ Al 22l
10,0002 *19% * 122 2,280
—of . &=xIy| 14,550
x| 60,0008 1241192 7,140
=% 30,0008 124x2472 7,410
GL=FAPNES 16,060
—=2AEX 2L
20,00021* 158k A 122 3,600
—E20HAH] 8,0002+4A!x 152 * 122 5,760
L= 100,000 % 1074 A 1,000
—ARDAH| 3,900
SAD| 22 500,00024*1CH 500
TRIED| 42 100, 0002 * 10CH*50% 500
S 2A0| EU 200,0002 %23 *1CH 400
- ZR2IED| EY 200, 0002 *23| *4CH 1,600
-PC 22| 100, 0002 % 15CH*20% 300
- JIEr=2lb 50,0002* 122 600
—DJIEF Al 22l
10,00024* 152+ 122 1,800
OgHAZA 15,382
—=2AEX 2L
20,00021* 138k A 12 3,120
—E20Al| 8,0002 *4Alx 13 %12 4,992
L= 100,0002 % 1374 A 1,300
—ARD 24 4,410
SAD| 22 500,000 % 1CH 500
- IRIE 22 100, 0002 % 13CH*50% 650
2AD| EY 200,00024%25]*1CH 400
T2y EY 200,000 *53| *2CH 2,000
PC 22l 100, 0002 * 13CH*20% 260
- JIE} 2=21H] 50,0002 * 122 600
—JIEF Al 22l
10,0002 %132 122 1,560
02 2Z29Y| 112,430 95,630 16,800
OMQ3(BE2H2 H8) 96,000
— 4,000,0002* 122 48,000




SN 2AAMD
HH: HESAAH|(2HRIMDL) (JIEHIIE})
SRl =2 (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
—ar2 4,000,000 128 48,000
OREYS MBS 80,000 * 122 960
OFs22 100,000 x 122 1,200
O4ot=ER3 350,000 %12 4,200
OAgrotEE 3| 50,000 13 50
OAlt HAAEA 42
1,000,000 13 1,000
OZT|2 Latzellt 1S
120,000423] 240
ogstate| kXt Hgiy| 100,0004%13] 100
OFS}THA 2 500, 000R*23] 1,000
O2ANYs 2ERS 7,680
—agt 4002 *5000H* 122 2,400
-3l 2, 200220001+ 122 5,280
202 04H| 188,640 206,010 A17,370
01 2UH0IH 188,640 206,010 A17,370
OEHAMY AREZF Y 75,240
— 20| 20,0002+ 19 x 122U+ 128 54,720
— 29| 04H| 120,000 %193 %92! 20,520
OZEEAHOYA PREX0H 22,680
—2HLH0AH 20,0002 %2123« 128 15,120
— 22|04t 120,000 24 %2123 7,560
OB2XA, 2L ALEXOH| 90,720
— 2O 20,00024+28% * 122U x 12 80,640
— 22| 04H| 120, 0002 x28 24 +32! 10,080
203 2EZIH| 13,620 12,940 680
01 J |22 AR 3,300 3,300 0
OEHAZE I HA2HARENY|
3,300,000+ 1H 3,300
02 HAIIAIA LRI 4,440 3,520 920
OF IR FAIY| 40,000&*111 4,440
04 BNSHADLEAIY 5,880 6,120 N240
ORN2ZHRFEH| 490,0002* 12 5,880
204 Z 24| 6,000 6,000 0
01 ZHZ AR5 AH| 6,000 6,000
OXHZ LR LA 6,000
—2AAT 400, 000912128 4.800
— AN 100,002+ 124122 1,200
405 THAHE SH 24,000 6,820 17,180
01 AU SEFSY| 24,000 6,820 17,180
OLN=E= AP 20,000,000 %1CH 20,000
O 1,500,000+ 1CH 1,500




SN BAPIMT
S HYH2LZU|(Z2ARAMD) (OIEHDIE
&2 J|=2&H| (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Oduel|(sot2E Ho4!)
2,500,0002*1CH 2,500
MPES(EAHSM) (2512 2t/ 24 2) 10,800 10,800 0
LHEAHHRXIZE 10,800 10,800 0
LI XIZ 10,800 10,800 0
701 JIEIZI HISHES 10,800 10,800 0
02 SIISSEIHZAHES 10,800 10,800 0
OREA AE 2oE
100,000 *30%*30 1 A+ 12 10,800




